OPTIONAL STAND CONNECTION

PARTS LIST

PART NUMBER

2 DECOILER SIDE (A)

2 MIDDLE SUPPORT (B)

16 M10 WASHERS

8 M10 x 30 SCREWS

8 M10 LOCKNUTS

OPTIONAL STAND CONNECTION

2 ALUMINIUM SPACERS

M10 x 140 HEX SCREWS

2
4 M10 WASHERS
2

M10 LOCKNUTS

Designed by

Checked by

Approved by

Date

KASZOWSKI GROUP LLC.

Double Spool Stand

Edition Sheet

1/1

N




